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1 & x= 21 615 29.3 20 476 238
2 |8 % 124 2,542 205 141 2,664 18.9
3 |5 e 56 2,057 36.7 49 1,443 29.4
4 |& it 77 1,627 21.1 83 1,900 22.9
5 |48 B 143 3,472 24.3 111 2,233 20.1
6 |F = 136 1,713 12.6 140 1,963 14.0
7 |= =y 38 867 22.8 48 1,113 23.2
8 (B i 75 968 12.9 90 1,257 14.0
9 |1 P 99 1,895 19.1 112 2,248 20.1
10 |E 7] 36 1,078 29.9 38 958 25.2
11 ;E 0 34 607 17.9 40 633 15.8
12 [ B 68 1,552 22.8 78 1,659 21.3
13 B 43 721 16.8 33 505 15.3
14 | X 57 207 3,889 18.8 205 3,506 17.1
15 |F8 [if] 263 3,460 13.2 288 3,659 12.7
16 |8 5l 47 1,001 21.3 41 764 18.6
17(f1 8 W 62 1,147 18.5 51 741 145
18 [l (=3 62 1,381 22.3 53 941 17.8
19 |F# i 62 1,323 21.3 51 891 175
20 |&h 3] 62 1,417 22.9 76 1,616 21.3
21 |1l a 49 1,002 20.4 58 1,580 27.2
22 |& ) 125 2,051 16.4 132 2,542 19.3
23 | & 1% 8 163 20.4 8 160 20.0
24 |1 i 88 1,685 19.1 92 2,233 24.3
25 |F4 | 22 536 24.4 15 504 33.6
26 | & 3 65 1,402 21.6 36 740 20.6
27 |8& 7 53 1,145 21.6 45 719 16.0
& B 2,125 41,316 19.4 2,134 39,648 18.6

500 Bk LL L 132 2,232 17.0 143 2,372 16.6
I 1400 FR LA E 82 1,618 19.8 89 1,815 20.4
¥4 (300 Bk LI £ 70 1,413 20.3 65 1,165 18.0

300 FR X i 30 818 27.3 27 674 24.8
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